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Q1. Consider the following statements. 

1. The term of the member of Rajya Sabha elected in a bye-election is 6 years. 

2. Both, Rajya Sabha and Legislative Council are not be subject to dissolution, but one-third of the 

members shall retire on the expiration of every second year for both the Houses. 

3. In Rajya Sabha, Secretary-General is appointed by the Chairman and holds a rank equivalent to 

the minister in the House. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 2 only 

d. 3 only 

Solution: c 

Explanation: 

First statement is incorrect. 

Term is six years; but a member elected in a bye-election serves for the remainder of the term of 

the vacancy caused. 

Second statement is correct: 

 

 

Third is incorrect. 

The Secretary-General is appointed by the Chairman, Rajya Sabha and holds a rank equivalent to the 

Cabinet Secretary, the highest civil servant of the Union Government. 

 

Q2. With respect to nominated members in Parliament, consider the following statements. 

1. A nominated member of Houses does not come under the purview of disqualification under 

Tenth Schedule. 

2. Nominated members are part of electoral college for election of President. 

3. In the case of a casual vacancy in the seat of a nominated member, a member chosen to fill a 

casual vacancy will serve for the remainder of his predecessor's term of office. 

Which of the above statements is/are correct? 

a. 2 and 3 only 

b. 1 and 2 only 

c. 2 only 

d. 3 only 

Solution: d 
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Explanation: 

First statement is incorrect: 

A nominated member of a House shall be disqualified for being a member of the House if he joins 

any political party after the expiry of six months from the date on which he takes his seat. 

Second statement is incorrect: 

 

Third statement is correct: 

In the case of a casual vacancy in the seat of a nominated member, the term of office of the 

member nominated to fill that seat serves for the remainder of his predecessor's term of office.  

Where it is written? It is under Section 154 of the Representation of the People Act 1951. 

 

 

Q3. With reference to the Supreme Court of India, consider the following statements: 

1. Ad-hoc Judges can be appointed for clearing of a backlog of cases. 

2. Ad-hoc Judges are deemed to be a Judge of the Supreme Court. 

Which of the statements given above is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

When there is a lack of quorum of the permanent Judges to hold or continue any session of the 

Supreme Court, the Chief Justice of India can appoint a Judge of a High Court as an ad hoc Judge of 

the Supreme Court for a temporary period. So, statement 1 is incorrect. 



 

www.goaltideias.com       info@goaltideias.com   8512889220 
 

GOALTIDE UPSC PRELIMS TEST SERIES 2023-FULL LENGTH TEST 1 

 

The Judge so appointed should be qualified for appointment as a Judge of the Supreme Court. It is 

the duty of the Judge so appointed to attend the sittings of the Supreme Court, in priority to other 

duties of his office. While so attending, he enjoys all the jurisdiction, powers and privileges (and 

discharges the duties) of a Judge of the Supreme Court. So, statement 2 is correct. 

 

Q4. As per the Constitution, under which of the following situations, the President of India may 

summon a joint sitting of both the Houses of Parliament? 

1. If the party does not enjoy majority in both the Houses. 

2. One House passes the Bill and the other House rejects the Bill. 

3. One House passes the Bill and the other House does not pass it within six months from the date 

it received the Bill 

Select the correct code. 

a. 3 only 

b. 2 and 3 only 

c. 2 only 

d. 1, 2 and 3 

Solution: b 

Explanation: 

There is no logic or reason to convene joint sitting if you don’t enjoy majority.  

 

 

Q5. With respect to the money bills, consider the following statements. 

1. If any question arises whether a Bill is a Money Bill or not, the decision of the leader of the 

House shall be final. 

2. Council of States can only discuss, but cannot recommend amendments to the Money bill 

passed by House of People. 
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3. When Money bill is presented to the President for assent, the certificate of the Speaker of 

the Lok Sabha signed by him that it is a Money Bill is mandatory. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 3 only 

Solution: d 

Explanation: 

Second statement is incorrect: They can recommend, it will be accepted or not, that is different 

thing. 

 

First is incorrect. Third is correct statement. 

 

Q6. Consider the following statements. 

1. Text of Oath of Affirmation by the Vice-President is read as: “will to the best of my ability 

preserve, protect and defend the Constitution and the law and that I will devote myself to the 

service and well-being of the people of India.". 

2. Vice-President can be removed from his office by a resolution of the Council of States passed 

by a majority of total strength of the House. 

3. All doubts and disputes arising in connection with the election of the Vice-President are 

enquired into and decided by the Supreme Court of India whose decision is final. 
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Which of the above statements is/are correct? 

a. 3 only 

b. 1 and 2 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: a 

Explanation: 

First and second are incorrect. 

To preserve, protect and defend…..is taken only by President and Governor: 

 

 

 

For Vice President:  

 

Second is incorrect: 
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Third is correct: 

All doubts and disputes arising in connection with the election of the Vice-President are enquired 

into and decided by the Supreme Court of India whose decision is final. 

 

Q7. With regard to election of Vice President, consider the following statements. 

1. By convention, the Secretary General of the Houses is appointed as the Returning Officer, by 

rotation. 

2. Unlike the Presidential election, where the value of votes cast by the Members of 

Parliament and of the various State Legislative Assemblies is different, the value of every 

vote cast in the vice-Presidential election has the same value. 

3. Provisions of the Anti-Defection Law applicable in Vice-Presidential Elections. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 2 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

First and second statements are correct. 
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Third is incorrect: 

 

Q8. Consider the following statements: 

1. If rupee is depreciating then it leads to increase in cost of imports in dollars. 

2. If rupee is depreciating then it leads to earing more dollars per unit of exports. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 

Explanation: 

EXPLANATION of (i) statement 

Suppose $1 was equal to Rs 70. And the price of OIL in the international market was $1 per litre. 

Now, if I have to import one litre OIL then first, I will purchase $1 from the market by paying Rs.70 

and then in $1 I will purchase one liter OIL. BUT if rupee depreciates to $1 = Rs. 80, then I will have to 

purchase the same $1 by paying Rs. 80 and then from $1 I will purchase one liter OIL. SO, rupee 

depreciation did not increase my cost in dollar terms, because I can still import one litre OIL in one 

dollar as the price of one litre OIL has not changed and only RUPEE depreciated. So, my cost in 

Rupees will increase, but the cost of import of one litre OIL remains same in terms of dollars and that 

is $1. 

Explanation of (ii) statement 

Suppose the price of wheat in international market is, 1kg wheat = $1 and suppose rupee dollar rate 

is $1=Rs.70. Now when I will export wheat then first, I will get $1 and this $1 I sell in market and I get 

Rs. 70. Now if rupee depreciated to $1 = Rs. 80, then STILL I can/will sell 1 kg wheat in $1 and then 

while converting 1$ in rupee I will get Rs. 80.  So, when rupee has depreciated, I still earn same 

dollars (one dollar) per kg of wheat export, but when I convert in rupees then I get more rupees (Rs. 

80). 

 

Q9. Consider the statements and select correct code: 

1. All the currency in circulation is the liability of RBI. 

2. All the currency in circulation is part of money supply. 

3. Notes and Coins are circulated in the economy only through RBI. 

Select the correct code. 
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a. 1 only 

b. 1 and 2 only 

c. 3 only 

d. 2 only 

Solution: c 

Explanation: 

1) Currency in Circulation = Notes + Coins 

2) Currency with the Public = Currency in Circulation - currency/cash with the banks 

The answer to the above question is (iii) only. 

Currency in circulation consists of Notes and Coins. All the currency notes (except one rupee note) is 

liability of RBI. But one rupee note and coins are printed/minted by Govt. of India and hence are 

liability of Govt. of India 

All the currency in circulation is not part of money supply. Only that currency in circulation which is 

with the PUBLIC is part of money supply. The currency with bank is not part of money supply.  

Even if one rupee note and coins are minted/printed by Govt. of India............ All the currency notes 

and coins are circulated in the economy by RBI (as per RBI Act 1934). 

 

Q10. Consider the following statements regarding "Monetisation of Deficit": 

1. It leads to increase in Monetary Base 

2. It is done by issuing new government bonds 

3. It is allowed in FRBM Act 2003 but only under exceptional circumstances 

4. It may lead to inflation and macroeconomic instability. 

Which of the above statements is/are correct? 

a. 1 and 4 only 

b. 2, 3 and 4 only 

c. 3 and 4 only 

d. All the above. 

Solution: d 

Explanation: 

"Monetisation of Deficit" means Govt. tries to borrow from RBI through printing of new currency 

notes to finance its deficit. So, RBI will print new currency notes and give to Govt. and govt. will give 

a receipt/proof that Govt. has taken this much amount of money from RBI. This receipt/proof is 

called govt. bonds/securities.  

 

So, because of this the following changes happen in RBI's balance sheet. As the new currency notes 

given to govt. are liability for RBI, so liability of RBI increases and simultaneously...........RBI gets the 

govt's bond which will be asset for RBI. So, RBI's Asset and Liability will increase by the same amount 

of new printed currency notes.  
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And 'Monetary Base' is defined as the liability of RBI. And since liability increased because of printing 

new notes, so Monetary Base increased. Of course, this will also increase the money supply in the 

economy (once the money reaches to the public).  

This is allowed in FRBM act. 

Since new currency is created, it results in inflation. And higher the currency notes printed it will 

result in much higher inflation and instability of economy. 

 

Q11. There is a Chinese Company doing business in India. The profit made by the Company will be 

part of:  

1. India's GDP 

2. China's GNP 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

If the Chinese company in India produces a BURGER and sold it into India and got REVENUE of Rs. 

100.  That means the price of the burger is Rs. 100 AND we can also say that value of production in 

India is Rs. 100.  Then out of this Rs. 100, the company will have to pay for the Four factors of 

production say, RENT = Rs. 10, INTEREST = Rs. 20, WAGES = Rs. 30 and PROFIT = Rs. 40.   

So, all the factors of production earning (value addition), is included in India's GDP. 

But the profit earned is the income of a Chinese Resident (the Chinese Company in India is ultimately 

owned by a Chinese person). So, Rs. 40 will also be part of China's GNP. 

And in this case, INDIA's GNP will be Rs. 60 (as it is assumed that all the other three factors of 

production are Indian residents). 

 

Q12. Which of the following may result in Rupee depreciation? 

1. RBI following an expansionary monetary policy 

2. Govt. stimulating the economy through deficit financing from RBI 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 
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Explanation: 

Because of expansionary monetary policy, either repo rate is reduced (which will result in decrease in 

interest rate in economy) or may be Open market operation (OMO) can be done which will give more 

money to the banking and financial system which again will result in decrease in interest rate 

(because of surplus liquidity). So, expansionary monetary policy will result in reduction in interest 

rate in economy which may result in foreign portfolio investors (bond market) leaving the domestic 

economy resulting in depreciation of Rupee. 

Deficit financing from RBI means govt is borrowing money from RBI (RBI is printing new money) and 

spending in the economy through infra construction/payment of MGNREGA wages/ subsidies etc, 

which results in reaching more money to the public resulting in increase in demand in economy and 

inflation in domestic economy which will result in depreciation of domestic currency in forex market 

(inflation results in depreciation of currency). 

 

 

Q13. In case of the liquidity crisis with a bank: 

1. RBI superseded the Board of Bank through RBI Act 1934 

2. RBI acted as ‘lender of last resort. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

When there is liquidity crisis with a bank, then RBI acts as "Lender of last resort" and provides LOAN 

at a particular interest rate to the bank. 

But when there is a major mismanagement in the bank and there are chances of major 

default/bankruptcy, then RBI, in consultation with Govt. of India, can supersede the "Board of 

Directors" of banks (but may not be PSU banks, whose management is regulated by Govt. rather than 

RBI), in public interest. Once RBI supersedes the Board of Directors, it appoints an "Administrator" . 

This is done as per the "Banking Regulation Act 1949" Section 36ACA. 

So, (i) statement is false as, RBI supersedes a bank's Board under "Banking Regulation Act 1949" 

and not under RBI Act 1934. 

 

Q14. Which of the following countries is/are part of first edition of IMT TRILAT joint maritime 

exercise? 

1. India 

2. Mozambique 

3. Malaysia 
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4. Tunisia 

5. Tanzania 

Select the correct answer using the code given below: 

a. 1, 2 and 5 only 

b. 1, 2 and 4 only 

c. 1, 3 and 5 only 

d. 1, 3 and 4 only 

Solution: a 

Explanation: 

The first edition of India-Mozambique-Tanzania Trilateral Exercise (IMT TRILAT), a joint maritime 

exercise among the Indian, Mozambique and Tanzanian navies commenced at Dar Es Salaam, 

Tanzania on 27 October 2022. 

 

Q15. With respect to ‘Red Mud’, consider the following statements. 

1. Red Mud is the waste generated in the production of copper.  

2. Red Mud is toxic due to its extreme alkalinity and heavy element leaching. 

3. The red mud contains Fe2O3, which is suitable for attenuating high-energy ionizing 

radiations like X- and gamma rays. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 3 only 

Solution: b 

Explanation: 

News: 
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Q16. Consider the following statements. 

1. At present, any usage of satellite connectivity in the consumer space is governed by the 

Global Mobile Personal Communication by Satellite (GMPCS) clause. 

2. The GMPCS is a clause under the Department of Telecommunication’s Unified Licence 

structure introduced in the National Telecom Policy, 2012. 

3. Now, consumer smartphones in India do not support satellite connectivity, and is feature is 

limited to maritime applications, trekking, etc. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 
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Q17. With respect to Counter-Terrorism Committee Executive Directorate (CTED), consider the 

following statements. 
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1. UN Security Council established the CTED to assist the work of the Counter-Terrorism 

Committee (CTC). 

2. CTED conducts country visits on the Counter-Terrorism Committee’s behalf to assess 

Member States’ counter-terrorism efforts. 

3. CTED in cooperation with United Nations Office of Counter-Terrorism (UNOCT) act in 

accordance with the relevant resolutions of the General Assembly to promote law 

enforcement relating to Counter-Terrorism. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

No need to read anything more than these three statements. 

All statements are correct. Just you learn about CTED. All UN agencies are important for exam.  

 

Q18. Recently held ‘B20 Indonesia Global Dialogue’, is: 

a. G20 dialogue forum 

b. a forum of ASEAN where Ino Pacific countries discuss for the development of the region 

c. is an independent trade forum of South East Asia which work on easy trade rules in the 

region 

d. A think tank grouping of governments, pribvate members, NGOs which works on biodiversity 

conservation in the region 

Solution: a 

Explanation: 

 

Business 20 (B20), formed in 2010, is the official G20 dialogue forum with the global business 

community. B20 aims to deliver concrete actionable policy recommendations on the priorities by 

each rotating presidency to spur economic growth and development. 

 

Q19. With respect to Telecom Technology Development Fund (TTDF), consider the following 

statements. 
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1. Universal Service Obligation Fund (USOF) launched Telecom Technology Development Fund 

Scheme. 

2. From this fund, grants given to Indian entities to encourage and induct indigenous 

technologies to meet domestic needs. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

 

 



 

www.goaltideias.com       info@goaltideias.com   8512889220 
 

GOALTIDE UPSC PRELIMS TEST SERIES 2023-FULL LENGTH TEST 1 
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Q20. ‘Semi-automated offside technology’ was recently observed in which of the following sports? 

a. Cricket 

b. Hockey 

c. Badminton 

d. Football 

Solution: d 

Explanation: 

FIFA is using its new semi-automated offside technology to help officials make accurate and faster 

offside calls in World Cup 2022. 

If you want to go in detail: https://youtu.be/FEPKAeGzwPU 

 

Q21. In reference to Global Climate Observing System (GCOS), consider the following statements. 

1. It regularly assesses the status of global climate observations of the atmosphere, land and 

ocean and produces guidance for its improvement. 

2. GCOS works towards a world where climate observations are accurate and sustained, and 

access to climate data is free and open. 

3. It is an initiative of World Bank and European Union. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: a 

Explanation: 

https://youtu.be/FEPKAeGzwPU
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GCOS regularly assesses the status of global climate observations and produces guidance for its 

improvement. GCOS works towards a world where climate observations are accurate and 

sustained, and access to climate data is free and open. 

 

Q22. Consider the following statements with respect to saffron production in India. 

1. The measures taken under National Mission on Saffron were limited to the specified areas of 

Kashmir. 

2. Productivity under National Mission on Saffron increased to around 5 times since mission 

was launched. 

3. NECTAR, an autonomous body under the Department of Science & Technology exploring the 

feasibility of growing saffron in North East region of India. 

Which of the above statements is/are correct? 

a. 1 only 

b. 3 only 

c. 1 and 3 only 

d. 2 and 3 only 

Solution: c 

Explanation: 

Read introduction to mission: 
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The area under Saffron cultivation declined from 5707 hectares in 1996-97 to 3785 hectares in 2010-

11. The decline in area was mainly attributed to low benefit cost ratio due to intensive and expensive 

cost of cultivation, low productivity (1.88 Kg/ ha), Orthodox cultivations methods coupled with 

various biotic and abiotic stresses, poor plant stand, change in weather pattern resulted in moisture 

stress at the terminal growth stages were the main factors responsible for decline in crop yields 

which evaded interests of farming community to pursue saffron cultivation. 

To give a boost to the saffron production and to mitigate the sufferings of the saffron growers, 

Ministry of Agriculture and Cooperation, Government of India, during the year 2010-11 introduced 

a scheme “National Mission on Saffron”. 

 

First statement is correct as the mission was limited to Kashmir region. 

Second statement is incorrect: 

 

Third is correct. 

 



 

www.goaltideias.com       info@goaltideias.com   8512889220 
 

GOALTIDE UPSC PRELIMS TEST SERIES 2023-FULL LENGTH TEST 1 

NECTAR, an autonomous institute of the Department of Science and Technology (DST) formed in 

the year 2012, with the merger of the erstwhile National Mission on Bamboo Applications (NMBA) 

and Mission on Geospatial Applications (MGA), with a mandate to be a solutions designer and a 

partnership institution providing technology applications and garnering support for the region’s 

development problems. 

NECTAR) supported a pilot project to explore the feasibility of growing saffron in North East region 

of India, with the same quality and higher quantity. 

 

Q23. ‘Ikshak’ is a: 

a. Large Survey Vessel Ship 

b. India’s first human carrying drone 

c. Hand weapon recently introduced in army 

d. anti-tank guided missile (ATGM) 

Solution: a 

Explanation: 

News: 

 

 

Q24. With reference to the Black Corals, consider the following statements: 

1. Black corals do not have symbiotic algae associated with them. 

2. Black Corals do not require light which enables them to extend into depths where light is not 

present. 

3. Black corals differ from stony corals, by having a flexible skeleton made of protein and chitin. 

Which of the above statements is/are correct? 

a. 2 only 

b. 2 and 3 only 

c. 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 
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Black corals can be found growing both in shallow waters and down to depths of over 26,000 feet 

(8,000 meters), and some individual corals can live for over 4,000 years. 

Many of these corals are branched and look like feathers, fans or bushes, while others are straight 

like a whip. Unlike their colourful, shallow-water cousins that rely on the sun and photosynthesis 

for energy, black corals are filter feeders and eat tiny zooplankton that are abundant in deep 

waters. 

Searched more for Black corals: 
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Q25. Consider the following statements: 

1. The condition of women was the same during the Vedic and the later Vedic periods. 

2. The Later Vedic period saw a rise in the extent of kingdoms as opposed to the Rig Vedic 

period. 
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3. The prominence of Indra faded during the later Vedic period and instead, importance was 

given to Prajapati. 

4. The pattern of social system (Varna) continued as it is from the Rig Vedic to the Later Vedic 

period. 

Which of the statements given above are correct? 

a. 1, 2 and 4 only 

b. 2 and 3 only 

c. 3 and 4 only 

d. 1, 3 and 4 only 

Solution: b 

Explanation: 

During the Vedic period, women were given equal opportunities as men for their spiritual and 

intellectual development. There were women poetesses like Apala, Viswavara, Ghosa and 

Lopamudra during the Rig Vedic period. 

Women could even attend the popular assemblies. There was no child marriage and the practice of 

sati was absent. 

However, with the transition to the later Vedic period, the position of women declined, as the 

society became more patriarchal. 

Women also lost their political rights of attending assemblies. Child marriages had become common. 

According the Aitreya Brahmana, a daughter has been described as a source of misery. However, the 

women in the royal household enjoyed certain privileges. 

The social divisions were not rigid during the Rig Vedic period, as it was in the later Vedic period. 

Larger kingdoms were formed during the later Vedic period. 

The four divisions of society (Brahmins, Kshatriyas, Vaisyas and Sudras) or the Varna system was 

thoroughly established during the Later Vedic period. The two higher classes - Brahmana and 

Kshatriya enjoyed privileges that were denied to the Vaisya and Sudra. Many subcastes, on the basis 

of their occupation appeared in this period. 

The two outstanding Rig Vedic gods, Indra and Agni, lost their former importance. On the other 

hand, Prajapati, the creator, came to occupy the supreme position in the later Vedic period. 

 

Q26. Consider the following statements: 

1. Buddha did not believe in the existence of soul. 

2. The first human statues worshiped in India were those of the Buddha. 

3. He opened the gates of his sangha to both men and women. 

Which of the statements given above are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 
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d. 1, 2 and 3 

Solution: d 

Explanation: 

Buddha was a rationalist, who tried to explain things in the light of reason and not on the basis of 

blind faith. In this sense, he was against any social distinctions. 

Also, he did not make a direct attack on the caste system, rather he threw open his order to all 

people of any caste. 

The first human statues worshiped in India were those of the Buddha. The devotees of the religion 

portrayed the various events in the life of Buddha in stone. 

When Buddha started Sangha, the Buddhists predominantly consisted of men. Women did not 

participate in the early beginnings of Sangha, therefore, many women wanted to join the Sangha and 

yearned for equality. However, they could not get easy access as there was no tradition of 

assimilation. But later it happened…Don’t get misguided by nay notes. Women were part of it. 

Example: In the Therigātha (The Songs of the Women Elders) 

 

The Buddhist community comprised monks and nuns known as the Bhikkus and the Bhikunnis.  

 

Q27. Consider the following pairs. 

         Buddhist places         Related to 

1. Chaukhandi Stupa, Sarnath It has the ruins of a Buddhist monastery and 
where Buddha first met his five disciples, 
when he reached Sarnath 

1. Kushinagar  Angulimala's Stupa in India built by 
Angulimala for his Lord- Buddha 

2. Dhamek Stupa, Sarnath Buddha delivered his first sermon 
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Which of the above pairs is/are correct? 

a. 1 only 

b. 1 and 3 only 

c. 2 only 

d. 2 and 3 only 

Solution: b 

Explanation: 

The explanation is taken from Ministry of Tourism document: 

https://tourism.gov.in/sites/default/files/2021-

10/Buddhist%20Tourism%20Circuit%20in%20India_ani_English_Low%20res.pdf 

 

 

 

 

https://tourism.gov.in/sites/default/files/2021-10/Buddhist%20Tourism%20Circuit%20in%20India_ani_English_Low%20res.pdf
https://tourism.gov.in/sites/default/files/2021-10/Buddhist%20Tourism%20Circuit%20in%20India_ani_English_Low%20res.pdf
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Q28. Which the following Statements is/are correct? 

1. Megasthenes suggests matriarchal influence in the Pandyan kingdom. 

2. The Pugalur inscription is associated with the genealogy of the Chera kings. 

Select the correct answer using the code given below: 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

The Pandyas are first mentioned by Megasthenes, who says that their kingdom was celebrated for 

pearls. He also speaks of it being ruled by a woman, suggesting some matriarchal influence in the 

Pandyan society. 

The Pugalur inscription of the first century A.D refers to three generations of the Chera rulers. 

Padirruppattu also provides information on the Chera kings. 

 

Q29. Consider the following pairs. 

      Indian female personalities     Related to 

1. Muktabai part of a Bhakti movement in 
Maharashtra 

2. Zuni Gujjari  fought for liberation of Kashmir in 
1947  

3. Lakshmi N Menon   Known as lady diplomat of India 

 

Which of the above pairs is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 1 only 

d. 1, 2 and 3 
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Solution: d 

Explanation: 

Muktabai was an important part of a group of the 13th-century Bhakti movement in Maharashtra 

called the Warkari sampraday. 

Zuni Gujjari has been instrumental in shaping the history of Kashmir, first during the Dogra era, 

then by fighting alongside India against Pakistan and advancing India’s cause for independence. 

When the invasion of Kashmir by Pakistani tribesmen on October 22, 1947, occurred, it served as a 

catalyst for people to take up arms and fight for their homeland’s liberation.  

Third is also correct. 

 

Q30. Which one of the following drama of ancient India deals with the love affair of a poor Brahmana 

with the daughter of a courtesan? 

a. Abhijnanashakuntalam 

b. Mrichchhakaktika 

c. Malavikagnimitra 

d. Vikramorvashi 

Solution: b 

Explanation: 

The Mrichchhakaktika, or the little clay cart, written by Sudraka, deals with the love affair of a poor 

Brahmana with the beautiful daughter of a courtesan. It is considered one of the best works of 

ancient drama. 

Malavikagnimitra, Abhijnanashakuntalam and Vikramorvashi were written by Kalidasa. 

Kalidasa was also the author of two famous Sanskrit epic poems: Raghuvansham and 

Kumarasambhavam. In fact, Abhijnanashakuntalam is considered to be one of the best hundred 

literary works in the world. 

 

Q31. Consider the following major depictions and their locations: 

1. Ravana shaking Mount Kailasha: Mahabalipuram 

2. Shiva chasing the boar, Kiratarjuniya: Lepakshi Temple 

3. Shiva killing Tripurasura: Thanjavur Temple 

Select the correct answer using the codes. 

a. 1 only 

b. 2 and 3 only 

c. 2 only 

d. 1, 2 and 3 

Solution: b 

Explanation: 
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Image in class 11 book, Introduction to India Art. 

 

Ravana shaking Mount Kailasha is at Ellora. 

 

Q32. In ancient India, the term ‘Skandhavaras’ was used to refer to the 

a. military camps 

b. royal scribes 

c. Jain monks wearing white clothes 

d. revenue collectors 

Solution: a 

Explanation: 

The Satavahanas tried to establish rule according to the Dharmashastra. 
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Important officials were called Mahamatras and Amatyas. 

District was called Ahara. 

Kataka and Skandhavaras are terms used in the inscription for military settlements and camps. 

These also acted as the centre of administration, as long as the king stayed here. 

 

Q33. Which of the following statements is/are correct? 

1. It was due to Iswarchandra Vidyasagar’s active mobilization of support that the Widows’ 

Remarriage Act was passed in 1856, legalizing all widow remarriages. 

2. With the help of Bethun, Ishwarchandra Vidyasagar set up many schools devoted especially 

to the girl child. 

3. Keshab Chandra Sen took the activities of the Brahmo Samaj beyond Bengal and into UP, 

Punjab, Madras and Bombay. 

Select the correct answer using the code given below: 

a. 1 only 

b. 2 and 3 only 

c. 1 and 2 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

Ishwarchandra Vidyasagar was an active proponent of education of, the girl child, as he believed that 

lack of education was the real cause underlying all their problems. 

With the help of an Englishman, named Bethun, Vidyasagar set up many schools devoted especially 

to the girl child. He forcefully attacked child marriage and polygamy. He was a strong advocate of 

widow remarriage. 

It was due to his active mobilization of support that the Widows’ Remarriage Act was passed in 1856 

legalizing all widow remarriages. He arranged many such remarriages. He set a personal example 

when his son Narayan also married a widow. 

Keshab Chandra Sen (1838–84), who joined the Brahmo Samaj in 1858, was a very eloquent and 

persuasive leader. He took the activities of the Samaj beyond Bengal and into UP, Punjab, Madras and 

Bombay. He radicalized the Samaj by attacking caste system, underlining women’s rights, promoting 

widow remarriage and raising the issue of caste status of Brahmo preachers, which was earlier 

reserved for Brahmans. 

He laid stress on universalism in religion. His radicalism brought him into opposition with 

Debendranath. In 1866, the Samaj was formally divided into Adi Brahmo Samaj (headed by 

Debendranath) and the Brahmo Samaj of India (headed by Keshab Chandra). 

Q34. Three reliefs of Vishnu- Sheshashayana, Nara-Narayan and Gajendramoksha can be seen: 

a. Dashavatara temple, Deogarh 

b. Vishwanatha temple, Khajuraho 

c. Sun Temple, Modhera 
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d. Lakshmana temple, Khajuraho 

Solution: a 

Explanation: 

 

 

Q35. Which of the following temples are dedicated to Lord Vishnu: 

1. Lakshamana temple, Khajuraho 

2. Jagannath temple, Puri 

3. Brahadeeshwarar temple, Thanjavur 

4. Badrinath temple, Uttarakhand 

Select the correct answer using the codes. 

a. 1 and 2 only 

b. 1, 2 and 4 only 

c. 3 and 4 only 

d. 2 only 

Solution: b 

Explanation: 
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Badrinath Temple is a Hindu Temple dedicated to Lord Vishnu, it is located in Garhwal hill tracts 

along the banks of the Maa Alaknanda River in Chamoli. 

The Jagannath Temple is an important Hindu temple dedicated to Jagannath, a form of Vishnu – 

one of the trinity of supreme divinity in Hinduism. 

 

Q36. With reference to the Himalayan Yak, consider the following statements: 

1. Yak population in the country is decreasing at an alarming rate over the years. 

2. The Himalayan yak has been recently accepted as a food animal by Food Safety and Standard 

Authority of India. 

3. Himalayan Yaks can be seen in more numbers in plains in India than Himalayas. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 1 and 3 only 

d. 2 and 3 only 

Solution: a 

Explanation: 

First and second statements are correct. 

 

Yak population in the country is decreasing at an alarming rate over the years. 

As per the latest census carried out in 2019, India has 58,000 yaks which is around 25 per cent drop 

from last livestock census carried out in 2012. 

Third statement is incorrect: 

Yaks tend to live at high altitudes because of their thick coat and vulnerability to diseases. In fact, 

yaks normally cannot live below 10,000 ft above sea level. 
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Q37. With respect to Asia-Pacific Awards for Cultural Heritage Conservation Programme, consider 

the following statements. 

1. The programme is convened by UNESCO by recognizing the efforts of private individuals and 

organisations in conserving and transforming structures of heritage value in the region. 

2. India won the Award of Excellence for UNESCO Asia-Pacific Awards for Cultural Heritage 

Conservation in 2022. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

 

The restoration of the 100-year-old Chhatrapati Shivaji Maharaj Vastu Sangrahalaya in Mumbai has 

won the Award of Excellence in this year's UNESCO Asia-Pacific Awards for Cultural Heritage 

Conservation.  

 

 

Q38. With reference to UN Country Team (UNCT), consider the following statements: 
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1. The United Nations Country Team exists and cover all of countries where there are United 

Nations programmes including India. 

2. It includes all the UN entities working on sustainable development, emergency, recovery and 

transition in programme countries. 

3. It is led by the UN Resident Coordinator, who is the representative of the UN Secretary-

General in a given country. 

Which of the statements given above is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 2 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

News: 

 

 

 

Q39. With respect to National Centre for Good Governance (NCGG), consider the following 

statements. 
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1. It was set up by the Government of India as an apex–level autonomous institution under the 

Ministry of Personnel, Public Grievances and Pensions. 

2. The affairs of the NCGG are managed under the overall superintendence and direction of the 

Governing Body, which is headed by the Cabinet Secretary. 

3. It acts as an advisory body on key issues in governance and develop synergy across various 

ministries and state governments. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

The National Centre for Good Governance (NCGG) was set up in 2014 by the Government of India 

as an apex–level autonomous institution under the Ministry of Personnel, Public Grievances and 

Pensions.  

The Centre traces its origin to the National Institute of Administrative Research (NIAR), which was set 

up in 1995 by the Lal Bahadur Shastri National Academy of Administration (LBSNAA), the 

Government of India's topmost training institute for civil services. NIAR was subsequently 

rechristened and subsumed into NCGG. 
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Q40. In the context of Sangeet Natak Akademi, consider the following statements. 

1. The chairman of the members of the Akademi is appointed by the President of India. 

2. The Sangeet Natak Akademi Awards are the highest national recognition conferred on 

practising artists. 

3. The Akademi presently has at centres at Assam, Odisha, Tripura, and Kerala. 

Which of the above statements is/are correct? 

a. 1 and 2 

b. 2 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

Sangeet Natak Akademi, the apex body in the field of performing arts in the country, was set up in 

1953 for the preservation and promotion of the vast intangible heritage of India’s diverse culture 

expressed in forms of music, dance and drama.  

The management of the Akademi vests in its General Council. The Chairman of the Akademi is 

appointed by the President of India for a term of five years.  

Sangeet Natak Akademi is an autonomous body of the Ministry of Culture, Government of India. 

 

The Sangeet Natak Akademi Awards are the highest national recognition conferred on practising 

artists. 

 

Q41. Melocanna baccifera is a: 

a. bamboo species 

b. butterfly 
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c. Banana species 

d. Frog species 

Solution: a 

Explanation: 

 

 

Q42. With reference to Carbon Border Adjustment Tax, consider the following statements: 

1. It was proposed by European Union to put a fair price on the carbon emitted during the 

production of carbon intensive goods that are entering into member countries. 

2. Currently, it is adopted by India, China, and Brazil to tax products such as cement and steel. 

 

Which of the statements given above is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

The European Union has proposed a policy — called the Carbon Border Adjustment Mechanism —  

to tax products such as cement and steel, that are extremely carbon intensive, with effect from 2026. 

 

BASIC, a group constituting Brazil, India, South Africa and China, and therefore large economies that 

are significantly dependent on coal, has for several years voiced common concerns and reiterated 

their right to use fossil fuel in the interim during their countries’ eventual transformation to clean 

energy sources. 

Their joint statement expressed “grave concern” that developed countries were still not showing 

leadership or responding with a matching progression of effort. 
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Q43. With respect to East Asia Summit (EAS), consider the following statements. 

1. EAS brings India, China, Russia, and US on one platform together. 

2. 1st EAS in 1996 led the foundation for the establishment of ASEAN. 

3. EAS act as a premier Leaders-led forum for dialogue and cooperation with the aim of 

promoting peace, stability, and economic prosperity in East Asia. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

 

The East Asia Summit comprises eighteen participating countries, including ten ASEAN Member 

States, namely Brunei Darussalam, Cambodia, Indonesia, Lao PDR, Malaysia, Myanmar, Philippines, 

Singapore, Thailand, Viet Nam, and Australia, China, India, Japan, New Zealand, the Republic of 

Korea, the Russian Federation, and the United States of America. 

The Association of Southeast Asian Nations, or ASEAN, was established on 8 August 1967 in 

Bangkok, Thailand, with the signing of the ASEAN Declaration (Bangkok Declaration) by the 

Founding Fathers of ASEAN. Second statement is incorrect. 

 

Q44. With respect to Commission for Scientific and Technical Terminology (CSTT), consider the 

following statements. 

1. Presently, CSTT is functioning under Ministry of Science and Technology. 

2. It aims is to develop infrastructure for textiles industry. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: d 
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Explanation: 

 

 

Q45. Consider the following statements. 

1. The first edition of ‘No Money for Terror’ Conference’ was recently hosted by India. 

2. The Counter-Terrorism Committee (CTC) was established by Security in the wake of the 11 

September terrorist attacks in the United States. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

News: 
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Q46. Which of the following could be associated with the "Big Bang Theory"? 

a. The universe is collapsing and getting smaller.  

b. The universe is roughly the same at any point in time. 

c. The distance between the galaxies is also found to be increasing. 

d. Two galaxies collided causing a big bang.  

Answer: c  

Explanation: 

The most popular argument regarding the origin of the universe is the Big Bang Theory. It is also 

called expanding universe hypothesis. Edwin Hubble, in 1920, provided evidence that the universe is 

expanding.  

As time passes, galaxies move further and further apart. The distance between the galaxies is also 

found to be increasing and thereby, the universe is expanding. 

The Big Bang Theory considers the following stages in the development of the universe. 

• In the beginning, all matter forming the universe existed in one place in the form of a “tiny 

ball” (singular atom) with an unimaginably small volume, infinite temperature and infinite 

density. 

• At the Big Bang, the “tiny ball” exploded violently. This led to a huge expansion. It is now 

generally accepted that the event of big bang took place 13.7 billion years before the present. 

The expansion continues even to the present day. As it grew, some energy was converted into 

matter. There was particularly rapid expansion within fractions of a second after the bang. 

Thereafter, the expansion has slowed down. Within first three minutes from the Big Bang 

event, the first atom began to form.  

• Within 300,000 years from the Big Bang, the temperature dropped to 4,500 K and gave rise to 

atomic matter. The universe became transparent. 

 

Q47. A solar flare is an increased splash of the sun’s brightness. Which of the following is/are 

associated with solar flares?  
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1. Atoms 

2. Electrons 

3. Ions  

Select the correct code: 

a. 1 and 2 only  

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Answer: d 

Explanation: 

Solar flares are produced when the plasma medium is heated to tens of millions of degrees kelvin, 

while the cosmic-ray-like electrons, protons, and heavier ions are accelerated to near the speed of 

light. They are emitted towards space along with other atomic particles. 

Q48.  Consider the following points regarding incoming and outgoing radiation from the earth’s 

surface: 

1. Incoming wave is shortwave whereas outgoing wave is long wave radiation. 

2. Shortwave radiation contains a lot of energy whereas long wave contains less energy than 

shortwave. 

3. Sun emits long wave radiation. 

Which of the following points are correct? 

a. 1 and 2 

b. 2 only  

c. 3 only  

d. 1, 2 and 3 

Answer: a 

Explanation: 

Why is the outgoing radiation in the long waveform while incoming rays are shortwave radiation? 

✓ Shortwave radiation (visible light) contains a lot of energy; longwave radiation (infrared 

light) contains less energy than shortwave radiation. 

✓ The sun emits shortwave radiation because it is extremely hot and has a lot of energy to give 

off. 

✓ Once in the Earth’s atmosphere, clouds and the surface absorb the solar energy. 

✓ The ground heats up and re-emits energy as long wave radiation in the form of infrared rays. 

Earth emits long wave radiation because Earth is cooler than the sun and has less energy 

available to give off. 

 

Q49. Which of the following is not a characteristic of Equatorial Climate? 

a. There is no winter. 
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b. The diurnal range of temperature is small, but the annual range of temperature is high. 

c. The double rainfall peaks coinciding with the equinoxes are a characteristic feature of 

equatorial climates not found in any other type of climate. 

d. None of the above.  

Answer: b 

Explanation: 

Statement 2 is incorrect: The diurnal range of temperature is small, and so is the annual range. 

Features of Equatorial Climate: 

• Dominated by Maritime Tropical air masses.  

• Temperature is uniform throughout the year.  

• The mean monthly temperatures are always around 27° C with very little variation.  

• There is no winter.Typical to Equatorial Rainforest Climate.  

• Cloudiness and heavy precipitation moderate the daily temperature.  

• Regular land and sea breezes assist in maintaining a truly equable climate.  

• The diurnal range of temperature is small, and so is the annual range. 

 

Q50. Which of the following current does not bound the Sargasso Sea?  

a. Gulf Stream 

b.  North Atlantic Current  

c. Canary Current   

d. Labrador Current  

Answer: d  

Explanation:  
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Q51. Which of the following factors aid the formation of Counter-Equatorial current?  

1. Piling up of water in the western pacific due to trade winds.  

2. The presence of doldrums.  

3. Piling of water in the western part of oceans due to rotation of earth.  

Select the correct answer using the code given below:  

a. 1 only  

b. 2 only  

c. 1, 2 and 3  

d. 3 only  

Answer: c 

Explanation: 

Additional info about Equatorial Pacific Ocean Currents  

➢ Under the influence of prevailing trade winds [tropical easterlies], the north equatorial 

current and the south equatorial current start from the eastern pacific (west coast of Central 

America) and traverses a distance of 14,500 km moving from east to west. Counter 

equatorial current  

➢ This raises the level of western pacific (near Indonesia and Australia) ocean by few 

centimeters. And this creates a counter-equatorial current which flows between the north 

equatorial current and the south equatorial current in west-east direction.  

➢ Piling up of water in the western pacific due to trade winds. 

➢ The presence of doldrums (equatorial low pressure belt) in between the north equatorial 

current and the south equatorial current. Doldrums are narrow regions with calm (lower) 

atmospheric conditions. Such conditions aid the backward movement of piled up western 

pacific waters.  

➢ Piling of water in the western part of oceans due to rotation of earth. 
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Q52. The climate and weather of a region largely depends on which of the following?  

1. Distance from equator.  

2. Height above Mean Sea Level (MSL). 

3.  Distance from International Date Line.  

Select the correct code: 

a. 1 and 2 only 

b. 1 and 3 only 

c. 3 only D.  

d. 1, 2 and 3 

Answer: a  

Explanation:  

Statement 3 is incorrect : Distance from International Date Line indirectly refers to the longitude of a 

place, which has no bearing on a place’s weather or climate. 

 Additional Information  

• Places farther from equator are likely to have lesser rainfall and a colder climate.  

• Altitude affects the temperature of a place. 

• Places at higher Mean Sea Level (MSL) are more likely to be colder than those at lower MSL. 

• Distance from International Date Line indirectly refers to the longitude of a place, which has 

no bearing on a place’s weather or climate.  

• Places close to large lakes or sea are more likely to have moderate weather due to the 

blowing of land and sea breezes.  

Other factors affecting climate are: 

✓ distance from the sea.  

✓ ocean currents 

✓ direction of prevailing winds. 

✓ shape of the land (known as 'relief' or 'topography')  

✓ distance from the equator. 

✓ the El Niño phenomenon. 

 

 

Q53. If the "Currency in Circulation" is increasing in the economy then it represents/means: 

1. Monetary Base is increasing 

2. Money Supply is increasing 

3. Money Multiplier is increasing 

4. RBI's assets are increasing 

Select the correct code. 

a. 1, 2 and 4 only 

b. 1 and 2 only 
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c. 2 and 4 only 

d. 1, 2, 3 and 4 

Solution: a 

Explanation: 

The correct answer for the above question is (a). Following is the explanation: 

If "Currency in circulation is increasing" that means RBI is pumping more cash into the economy. This 

can happen in several ways: 

1. RBI purchase physical gold from the market and print extra cash and pay for it. RBI's assets 

(physical gold) will increase and Liabilities (cash/currency) will also increase that means 

"monetary base" also increases. 

2. RBI purchases "govt bonds" from the market and prints extra cash to pay for the bonds. RBI's 

assets (govt bonds) will increase and Liabilities (cash/currency) will also increase that means 

"monetary base" also increases. 

3. RBI is purchasing extra dollars (from foreign investors coming to India or from exporters) and 

printing cash/currency (rupee) and paying for it. RBI's assets (dollars) will increase and liabilities 

(cash/currency) will also increase that means "monetary base" also increases. 

Now, you all know that, 

Money Supply = Money Multiplier X Monetary Base 

Since in the above 3 examples, "Monetary Base" is increasing HENCE "Money Supply" will (also) 

increase and "Money Multiplier" will remain constant. 

(Money Multiplier will change only when if there is change in behaviour of people or RBI changing 

CRR/SLR) 

And you all must understand that when RBI's liabilities increase (which is also called monetary base), 

RBI's assets will also increase. It’s very simple logic, I explained above.  

This is a subject which should be conceptually clear. Just "mug up" karne se kaam nahin chalega. 

While studying this subject, the focus should always be on understanding.  

 

Q54. Consider the following statements. 

1. MSP does not have any legal backing till now and farmers can't demand it as a right. 

2. The Commission for Agricultural Costs & Prices (CACP) is a statutory body which came into 

existence in 1965. 

3. After Commission finalizes and submit its recommendations to the government, government 

circulates the CACP reports to state governments for their comments. 

4. Cabinet Committee on Economic Affairs of the Union government takes a final decision on 

the level of MSPs and other recommendations made by CACP. 

Which of the above statements is/are correct? 

a. 1 and 3 only 

b. 1 and 4 only 

c. 1, 3 and 4 only 
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d. 1, 2, 3 and 4 

Solution: c 

Explanation: 

The Commission for Agricultural Costs & Prices (CACP) is an attached office of the Ministry of 

Agriculture and Farmers Welfare, Government of India. It came into existence in January 1965.  

CACP, which recommends MSP, is again not a statutory body and it’s just an office attached to 

Ministry of Agriculture. CACP just recommends MSP but the decision on fixing and even not fixing 

and its implementation lies with Govt. 

Currently, the Commission comprises a Chairman, Member Secretary, one Member (Official) and two 

Members (Non-Official). The non-official members are representatives of the farming community 

and usually have an active association with the farming community. 

 

MSP does not have any legal backing till now and farmers cannot demand it as a right. It’s just 

government policy and an administrative decision to purchase food grains at MSP. 

 

Q55. Government declares MSP which is at least 50% over cost of production. This cost includes: 

 

1. Actual paid out cost on rentals 

2. Rentals forgone on owned land 

3. Depreciation on agricultural implements 

4. Actual storage cost post-harvest 

Select the correct code. 

a. 1 and 3 only 

b. 1 and 2 only 

c. 2 and 4 only 

d. 1, 3 and 4 only 

Solution: a 
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Explanation: 

Try to understand things in detail: 

Swaminathan Commission (Dr. MS Swaminathan) had recommended that MSPs should be at least 

50% more that the average production cost. Govt accepted this recommendation in the budget 

2018-19 and accordingly announces the MSP which is at least 50% over "All-India weighted average 

Cost of Production". (the MSP for all over India is same). Now, the cost of production can be 

calculated in 3 ways. 

A2: (Average of actual paid out costs): It will include expenses on purchase of inputs, electricity, 

fertilizers, etc.  If someone has taken land on lease and he is paying rent that will also be included. 

And if a farmer has hired labour, then that cost will also be included. But if someone is using family 

labour then since the farmer is not actually paying from his pocket, so it will not be included in cost. 

Thats why the term says actual paid out costs. 

A2 + FL (Covers actual paid out cost + imputed value of family labour).  In this case, if the farmer is 

using family labour then what we calculate is if the farmer will have to hire the same labour from the 

market then how much he will have to pay and then it is added in A2. This is called imputed value of 

family labour. 

C2 (More comprehensive and includes for the rentals and interest foregone on owned land and 

fixed capital assets on top of A2 + FL). This means that if a person has his own land, then of course 

he is not paying rentals and there will be no cost included in either "A2" or "A2+FL". But here in "C2" 

we will add the cost assuming that if the farmer has to take the same land on rent, then what would 

be the cost, even if he is actually not paying any rent. 

So, basically in A2, if a farmer is paying rent for land, then its cost will be included and if a farmer has 

his own land, then the rentals (foregone/lost) will not be included as cost. And the average of both 

the farmer will become cost in A2 (which will basically include the rental of only one farmer).   But in 

C2, the rentals of land of both farmers will be included, even if one of the farmers does not incur cost 

on rentals. 

Swaminathan Committee was favouring 50% over "C2", but NDA govt in budget 2018-19 announced 

that it will be giving minimum 50% over "A2 + FL".  

Now, 

The answer to the above question is (a). 

 

I explained today that MSP is given at least 50% over "A2 + FL", where A2 is the actual paid out costs 

on everything including seeds, fertilizers, equipment, labour, rentals etc.   And FL is the imputed 

value of Family labour, in case some farmers are using family labour.  So we calculated the weighted 

average cost of production of "those who are using hired labour" and" imputed value of family 

labour, for those farmers who are not using hired labour". 

So, (i) statement is true  

(ii) statement is not true as it is included in C2 only (check todays post) 

(iv) is not true as post-harvest activities are not included in the cost 
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(iii) Statement is TRUE. Let me explain in detail. 

If I am a farmer and producing wheat and I purchased a TRACTOR in year 2020-21, whose price is Rs. 

6 lacs. And suppose I use this tractor for 10 years and after that it’s of no use. Now, I should not 

include the entire Rs. 6 lakh amount to calculate my cost of production in the year 2020-21. 

Otherwise, my cost will look too high (this is not good accounting practise). And since I will also be 

using this equipment for the entire 10-year period, so ideally i should say that my annual cost of 

equipment is Rs. 60,000 (6 lakhs/10 years). Basically, average distribution of the equipment cost. This 

Rs. 60,000 is called DEPRECIATION (cost).  .... (And implements means equipment) 

Now, the cost of equipment is part of "A2". Because it is the cost incurred (actual paid out) by the 

farmer. But all the cost is not subtracted in one particular year rather its cost is uniformly distributed 

over the entire life of the equipment and that cost is called DEPRECIATION (cost).  

So, if someone asks that A2 includes the cost on equipment purchase..........then the answer is YES. 

And if someone asks that A2 includes depreciation of equipment ..........then the answer is again YES. 

Because practically both means the same thing.  

 

Q56. Consider the following statements regarding Agriculture Census: 

1. Agriculture Census is conducted quinquennially (at five-year interval). 

2. The first Agriculture Census was conducted in 1970-71. 

3. Since the launch of first Agriculture Census in 1970-71, the country has conducted 44 

Agriculture Censuses so far. 

Which of the above statements is/are correct? 

a. 1 and 3 only 

b. 1 and 2 only 

c. 2 and 3 only 

d. 2 only 

Solution: b 

Explanation: 

The Department of Agriculture and Farmers Welfare, Ministry of Agriculture & Farmers Welfare, 

Government of India conducts Agriculture Censuses in India in collaboration with States/UTs 

following standard concepts, definitions and methodology.  

Since the launch of first Agriculture Census in 1970-71, the country has conducted ten Agriculture 

Censuses so far and the present census with reference year 2021-22 will be 11th in the series. 

Entire Census operation is conducted in three phases and operational holding is taken as statistical 

unit at micro level for data collection.  

Based on the agriculture census data collected in three phases, the Department brings out three 

detailed reports analysing trends on various parameters at All India and States/UTs level. 

District/Tehsil level reports are prepared by the respective States/UTs. 

 

Q57. Consider the following statements regarding FDI/FPI: 
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1. FDI and FPI get attracted by higher economic growth. 

2. FPI and FDI get attracted by interest rate differential. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

FDI investment happens only in shares and FPI investment happens in shares/bonds both 

When an FDI investor comes in India to invest in shares (ownership) then he targets the profit of the 

company.  

Now try to understand that, if a countries Nominal Growth in GDP (real growth + inflation) is higher 

(say 12%) that means all the companies/businesses combined growth in terms of sales is also 12% 

(this is because GDP growth is the growth of all the businesses combined. For example: if a country 

has only one company and it sells Rs. 100 of goods in a year then that country GDP will be Rs. 100.  

And if sales increased by 12% that means GDP of that country increased by 12%.  And the 12% 

increase is the combined effect of quantity increase (real) plus price increase (inflation)). 

So, if a countries GDP growth (real + inflation) is higher that means all companies combined sales 

growth is higher. If sales growth is higher, say 12% (and costs are also increasing proportionately), 

then profit will also grow by 12%. And if profit growth is 12% then the FDI investor who has invested 

in shares (and gets profit every year) will also get good growth on the amount of money/capital put 

into shares. BUT if the FDI investor invests in a country, say, US and its nominal growth is 4% then the 

overall profit of all the companies combined will also grow at just 4% and hence the investor return 

will grow at less rate.   

On this logic FDI investors go to those countries where growth is higher (real + inflation). And 

inflation should be normal say 4%.........................this is because if inflation will increase in double 

digits, DONT think that FDI investor will get more return BECAUSE in that case REAL growth will 

reduce. So, inflation should be normal and real growth high which will make overall nominal growth 

high. And the Return will depend on Nominal growth. 

FPI investors invest in shares and bonds both. So, FPI investors invest in shares on the same logic as 

FDI investors explained above and hence they look for higher growth economies. And when FPI 

investors invest in bonds then they search for countries where they get higher INTEREST rate. Now, 

this interest rate is again higher in developing economies (because of relatively higher inflation + real 

interest rate) .........hence they look for "interest differential", which means if interest rate in US is 4% 

and in India it is 7% then the interest differential is 3% (7% - 4%) which is higher enough to attract 

FPIs.  

So, FPIs are attracted both by higher growth and interest differential but FDI investors are attracted 

by higher growth only. 
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Q58. Consider the following statements. 

1. If any country, for say USA, go on monetary expansion, a lot of foreign investors will come to 

USA leaving countries following tight monetary policy. 

2. If RBI follows contractionary monetary policy, more FPIs will come to invest in India. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

Expansionary monetary policy means, reducing interest rate. Reducing interest rate means, FPIs will 

get low interest on bonds. So why they will avoid countries following expansionary policy.  

Contractionary means, high interest rates. FPIs will come here.  

 

Q59. If interest rate in market decreases: 

1. price of bond increases 

2. return (yield) on that bond increases. 

Select the correct code. 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: a 

Explanation: 

Suppose Rs. 100 bond (this is called issue price or Face Value) is issued @ interest rate 10% (which 

means that interest in the market is around 10%). Now if interest rate in the market decreases (the 

interest rate is decreasing in the market but the bond which has been issued @10% interest rate. 

This interest rate is fixed and it will never change) then the new bonds which will be issued will be 

issued at less interest rate (say 8%). Now if u want to purchase previously issued bond of Rs. 100 face 

value............ the holder of the bond will not give u in Rs. 100, rather he will ask for more Rupees 

........... i.e., the price of the previously issued bond will increase and suppose u purchase this bond in 

Rs. 125 then for your annual RETURN will be = (Rs. 10/Rs. 125)*100 = 8%. This 8% is yield. 

So, to conclude, if interest rate in market decreases, price of bond increases and return (yield) on 

that bond decreases. 
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Q60. Consider the following statements. 

1. Every year, Central Government in consultation with the RBI, determines the inflation target 

in terms of the Consumer Price Index and notifies it in the Official Gazette. 

2. As per the rules, when the Bank fails to meet the inflation target, Central Government shall 

present a report in the Parliament the reasons for failure to achieve the inflation target. 

3. The first monetary policy committee (MPC) was constituted on September, 2016. 

Which of the above statements is/are correct? 

a. 1 and 3 only 

b. 2 and 3 only 

c. 2 only 

d. 3 only 

Solution: d 

Explanation: 

Read below images: 
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Q61. Consider the following statements. 

1. The Reserve Bank of India is the custodian of the country’s foreign exchange reserves. 

2. When RBI purchase more dollars from Forex Reserve, it aims to make our exports more 

competitive. 

Which of the above statemnts is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

 

Purchase more dollar means, rupee will be more. When something is more, value of that thing (here 

rupee) decreases. Value decreased means, Depreciation. Depreciation promotes domestic growth 

and exports.  
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Q62. With respect to regulation of Over-the-Top Platforms (OTT) Platforms in India, consider the 

following statements. 

1. The rules provide for self-classification of the content on OTT without any involvement of 

Central Board of Film Certification. 

2. OTT platforms must display age-based content rating and content descriptor for each content. 

3. Every publisher should appoint a Grievance Officer based in India for receiving and redressing 

grievances in 15 days. 

Which of the above statements is/are correct? 

a. 2 only 

b. 1 and 3 only 

c. 1 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

All statements are correct. 

As of now, the Centre has notified the Information Technology (Intermediary Guidelines and Digital 

Media Ethics Code) Rules 2021 to regulate OTT platforms like Amazon Prime, Netflix India and 

others. 

In India’s regulatory parlance, OTT platforms are called ‘publishers of online curated content’. 

Online curated content is audio-visual content such as films, web-series, podcasts etc. made 

available to the viewers on demand, including but not limited through subscription by OTT platforms. 

 

As of now, the Centre has notified the Information Technology (Intermediary Guidelines and Digital 

Media Ethics Code) Rules 2021 to regulate OTT platforms like Amazon Prime, Netflix India and 

others. This means that currently, OTT platforms have a self-regulatory mechanism. 

Unlike movies released in theatres, OTT platforms have no involvement of the Central Board of Film 

Certification and give their content a self-evaluated certification. 
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Q63. What is Hindu rate of growth in Indian economy? 

a. lower annual growth rate of the economy of India before the economic reforms of 1991. 

b. When GDP of a country remains negative for two years continuously. 

c. Despite GDP growth, there is no growth in livelihood and employment opportunities. 

d. When growth is mainly led by both male and female members of society. 

Solution: a 

Explanation: 

The Hindu rate of growth is a term used by economists to describe a slowdown in the economy of 

India due to several factors. The term ‘Hindu rate of growth’ refers to the lower annual growth rate 

of the economy of India before the economic reforms of 1991. 

The Hindu rate of growth signifies a time in Indian economic history when the growth in India 

stagnated at around 3.5 percent from the 1950s to the 1980s, while per capita income growth 

averaged around 1.3 percent, leading to one of the lowest periods of economic growth. 

 

Q64. With respect to ‘stromatolite rock, consider the following statements. 

1. A stromatolite is a layered sedimentary rock created by microorganisms.  

2. As such, stromatolite fossils preserve records of cyanobacteria, commonly known as blue-

green algae. 

3. Stromatolite fossil park is in Tamil Nādu. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 2 and 3 only 

d. 1 and 3 only 

Solution: a 

Explanation: 
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The park is in Rajasthan. Third statement is incorrect. 

In same article, there is also ZAWAR. See that also. 

 

Q65. With respect to NASA-ISRO Synthetic Aperture Radar (NISAR) satellite, consider the following 

statements. 
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1. NISAR is the first satellite mission that will collect radar data in two microwave bandwidth 

ranges: L-band and S-band. 

2. It is a type of remote-sensing technology that uses radars instead of optical sensors to create 

high-resolution images of the earth’s surface. 

3. NISAR will image the entire land and ice masses of the earth four to six times a month. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 2 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 
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Q66. Individual Satyagraha 1940-41 was started soon after: 

a. Desai – Liaquat Pact 

b. Quit India movement, 

c. August Offer 

d. Gandhi Irwin Pact 

Solution: c 

Explanation:  

Viceroy Linlithgow made a set of proposals called the ‘August offer’. For the first time, the right of 

Indians to frame their own constitution was acknowledged. 

The INC rejected this offer at its meeting at Wardha in August 1940. It demanded complete freedom 

from colonial rule. Jawaharlal Nehru remarked that the dominion status concept was as dead as a 

doornail. The League also rejected the offer saying that nothing short of partitioning the country 

would be acceptable to them. 

After this, Mahatma Gandhi initiated the Individual Satyagraha to affirm the right to free speech. 

He avoided a mass satyagraha because he did not want violence. 

Q67. The Indian National Army (INA) was created by Netaji Subhash Chandra Bose near the 

a. Swadeshi Movement 

b. First World War 

c. Second World War 
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d. Civil Disobedience Movement 

Solution: c 

Explanation: 

The Indian National Army was an armed force formed by Indian nationalists in 1942 in Southeast 

Asia during World War II. 

Its aim was to secure Indian independence from British rule. It formed an alliance with Imperial 

Japan in the latter's campaign in the Southeast Asian theatre of WWII. 

The army was first formed in 1942 under Mohan Singh, by Indian Prisoners of Wars of the British-

Indian Army captured by Japan in the Malayan campaign and in Singapore. 

This first INA collapsed and was disbanded in December that year after differences between the INA 

leadership and the Japanese military over its role in Japan's war in Asia. 

It was revived under the leadership of Subhas Chandra Bose after his arrival in Southeast Asia in 

1943. 

The creation of the INA by Netaji Subhash Chandra Bose during the Second World War was the 

clearest manifestation of the linkages established between India and overseas Indians during the 

freedom struggle. 

 

Q68. Consider the following statements regarding Monkeypox disease. 

1. Monkeypox is a viral zoonotic disease that occurs primarily in tropical rainforest areas of 

Central and West Africa. 

2. Monkeypox virus is transmitted from one person to another by contact with lesions, body 

fluids, respiratory droplets. 

3. There is a vaccine to protect from Monkeypox. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

Image form WHO website: 
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Q69. With respect to ‘Mononucleosis’, consider the following statements. 

1. It is mainly caused by influenza virus. 

2. It is a contagious viral illness spreads via bodily fluids and saliva. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: b 

Explanation: 

 

Q70. Consider the following statements. 

1. India’s installed renewable energy capacity has increased since 2018, but failed to achieve a 

renewable energy capacity target of 175 GW by 2022. 
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2. Against the overall target of 40 GW, less than 10 GW of rooftop solar projects could be 

installed in the country. 

3. India has achieved the wind installation target of 60 GW by 2022.  

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 only 

d. 1, 2 and 3 

Solution: a 

Explanation: 

News: 
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Q71. Consider the following statements regarding ‘Deepfakes’? 

1. They are digital media - video, audio, and images edited and manipulated using Artificial 

Intelligence. 

2. GAN neural network technology is used in the development of all deepfake content, using 

generator and discriminator algorithms. 

3. Under Information Technology Act, 2000, deepfake technology is completely prohibited in 

India. 

 Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: a 

Explanation: 
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Deepfake AI is a type of artificial intelligence used to create convincing images, audio and video 

hoaxes. Deepfakes often transform existing source content where one person is swapped for 

another. They also create entirely original content where someone is represented doing or saying 

something they didn't do or say. 

 

Third statement is incorrect. There is no exclusive legislation for deepfake. 

 

Q72. Consider the following statements regarding International Renewable Energy Agency (IRENA). 

1. It was established at Earth Summit', held in Brazil, 1992. 

2. IRENA promotes the widespread adoption of all forms of renewable energy, including 

bioenergy, geothermal, hydropower, ocean, solar and wind energy. 

3. India is a member of the Global Offshore Wind Alliance (GOWA), recently initiated by IRENA. 

Which of the above statemnts is/are correct? 

a. 1 only 
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b. 2 and 3 only 

c. 2 only 

d. 1, 2 and 3 

Solution: c 

Explanation: 

 

The International Renewable Energy Agency (IRENA) is a lead global intergovernmental agency for 

energy transformation that serves as the principal platform for international cooperation, supports 

countries in their energy transitions, and provides state of the art data and analyses on technology, 

innovation, policy, finance and investment.  

IRENA drives the widespread adoption and sustainable use of all forms of renewable energy, 

including bioenergy, geothermal, hydropower, ocean, solar and wind energy in the pursuit of 

sustainable development, energy access, and energy security, for economic and social resilience and 

prosperity and a climate-proof future. 

 

 

Q73. Vallisneria, najas as well as utricularia are: 

a. Invasive species affecting sunflower production 

b. New varieties of paddy recently approved by ICAR 

c. aquatic weeds have been posing a new threat to the paddy cultivation 

d. new frog species found in western ghats 
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Solution: c 

Explanation: 

 

 

 

Q74. Which of the following has been declared as ‘longest-lived tropical cyclone on record’? 

a. Cyclone Mandoug 

b. Cyclone Freddy 

c. Cyclone Asani 

d. Cyclone Sitrang 

Solution: b 

Explanation: 

News: 
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Q75. Which of the following correctly defines the word “Maladaptation”? 

a. It is an adaption process specially designed for island countries to prevent extreme climatic 

events. 

b. It includes adaption not only to climate conditions, but also habitations, foods, health of 

entire community affected 

c. Adaption measure for migrant population. 

d. It is an adaptation measure that does not succeed in reducing vulnerability but increases it 

instead. 

Solution: d 

Explanation: 
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Q76. With reference to Trade-Related Investment Measures (TRIMS), which of the following 

statements is/are correct? 

1. Aims to facilitate investment across international frontiers so as to increase the economic 

growth of all trading partners, particularly developing country members 

2. They apply to investment measures related to trade in goods only, not services. 

3. The Agreement is not concerned with the regulation of foreign investment. 

Select the correct code. 

a. 2 only 

b. 1 and 3 only 

c. 1 and 2 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

All statements are correct. 
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Q77. Consider the following statements regarding Peepal Tree. 

1. It plays a vital role in preserving the ozone layer and reducing air pollution. 

2. Peepal tree was considered sacred and worshipped by people in Indus Valley Civilization. 

3. Peepal has been considered God in Vedic texts. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

First statement is correct: 
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Second statement is correct. 

A seal from Mohenjo-Daro found by Wheeler in the 1920's. From his 1931 text: "The plant on the 

[seal] has been identified as a pipal tree, which in India is the Tree of Creation. The arrangement is 

very conventional and from the lower part of the stem spring two heads similar to those of the so-

called unicorn." 
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Third statement is correct: 

The Peepal tree is denoted as a God in the Rig Veda, is considered necessary in every yagya 

according to the Yajur Veda and it has been described as the abode of all the Gods in the Atharva 

Veda. 

 

Q78. Which of the following is/are part of Directive Principles of State Policy (DPSP)? 

1. The State shall take steps to separate the judiciary from the legislature in the public services 

of the State. 

2. The State shall encourage settlement of international disputes by arbitration. 

3. It shall be the obligation of the individual to protect every monument or place or object of 

artistic or historic interest declared to be of national importance. 

4. The State shall promote educational and economic interests of Scheduled Castes, Scheduled 

Tribes. 

Select the correct code. 

a. 1, 2 and 4 only 

b. 2, 3 and 4 only 

c. 2 and 4 only 

d. 1 and 3 only 

Solution: c 

Explanation: 
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First statement is incorrect: 

 

Second statement is correct: 

 

Third statement is incorrect: 

 

Fourth statement is correct: 

 

Q79. The term “Unity and Integrity” of India can be seen in which part of Indian Constitution? 

a. Directive Principles of State Policy (DPSP), Preamble and Fundamental Duties 

b. Preamble 

c. Preamble and Fundamental Duties 

d. Fundamental Rights, DPSP and Preamble 

Solution: c 

Explanation: 
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Also, under Fundamental Duties. 

 

 

Q80. Consider the following statements regarding Mahatma Gandhi National Rural Employment 

Guarantee Act, 2005. 

1. The Ministry of Panchayati Raj monitors the implementation of this scheme in association 

with state governments. 

2. Gram Sabha is empowered to do manadatory social audit of work taken under the scheme 

within the Gram Panchayat. 

3. MGNREGA has a provision for unemployment allowance if employment under the Scheme is 

not provided such employment within fifteen days of receipt of his application seeking 

employment. 

Select the correct code. 

a. 1 and 2 only 

b. 2 only 

c. 2 and 3 only 

d. 1 and 3 only 
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Solution: c 

Explanation: 

MGNREGA provides a legal guarantee for one hundred days of employment in every financial year 

to adult members of any rural household willing to do public work-related unskilled manual work. 

It helps in creation of durable assets (such as roads, canals, ponds and wells). It also helps in 

protecting the environment, empowering rural women, reducing rural-urban migration and fostering 

social equity. 

Social Audit of MGNREGA works is mandatory, which lends to accountability and transparency. 

If work is not provided within 15 days of applying, applicants are entitled to an unemployment 

allowance. Thus, employment under MGNREGA is a legal entitlement. 

Employment is to be provided within 5 km of an applicant's residence, and minimum wages are to 

be paid. If the distance is above 5 km extra wage has to be paid. 

The Ministry of Rural Development monitors the implementation of this scheme in association 

with state governments. First statement is incorrect. 

Second statement is correct: 

 

Third statement is correct. 

 

 

Q81. Consider the following statements regarding Bioenergy crops. 

1. Bioenergy crops create cooling effect on cultivated areas. 

2. Bioenergy crops could also be used for the phytoremediation of heavy metal-contaminated 

soils. 

3. The first-generation bioenergy crops include corn, sorghum, rapeseed and sugarcane. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation:  

Crops from which Biofuels are produced or manufactured are popularly known as Biofuels crops. 
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The biofuel generation using fast growing and photosynthetically efficient bioenergy crops is 

emerging as a reliable alternative to fossil fuels. Bioenergy plants increase soil carbon and fix 

atmospheric carbon. In addition, bioenergy crops (miscanthus, sorghum and poplar) could also be 

used for the phytoremediation of heavy metal-contaminated soils.  

The bioenergy crops include specific plants that are grown and maintained at lower costs for biofuel 

production. The bioenergy crops are classified into five types namely, first-, second- and third-

generation bioenergy crops, dedicated energy crops and halophytes.  

The first-generation bioenergy crops include corn, sorghum, rapeseed and sugarcane, whereas the 

second-generation bioenergy crops are comprised of switchgrass, miscanthus, alfalfa, reed canary 

grass, Napier grass and other plants. The third-generation bioenergy crops contain boreal plants, 

crassulacean acid metabolism (CAM) plants, eucalyptus and microalgae. 

Q82. Consider the following statements regarding National Food Security Act, 2013. 

1. Every pregnant and lactating mother is entitled to a free meal at the local anganwadi during 

pregnancy and six months after childbirth. 

2. It also ensures food security of people of hilly and tribal areas. 

3. It provides for the creation of Food Corporation of India which will facilitate the objective of 

said Act. 

Which of the above stateemnts is/are correct? 

a. 1 and 2 only 

b. 2 only 

c. 1 only 

d. 1, 2 and 3 

Solution: a 

Explanation: 

The National Food Security Act, 2013 was notified on 10th September, 2013 with the objective to 

provide for food and nutritional security in human life cycle approach, by ensuring access to 

adequate quantity of quality food at affordable prices to people to live a life with dignity. 

 

Every pregnant and lactating mother is entitled to a free meal at the local anganwadi (during 

pregnancy and six months after childbirth) as well as maternity benefits of Rs 6,000, in instalments. 

First statement is correct. 
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Food security to people living in hilly areas: Second statement is correct. 

 

Third statement is incorrect: 

The Food Corporation of India is an organization created and run by the Government of India. It is a 

statutory body under the Ministry of Consumer Affairs, Food and Public Distribution, Government of 

India, formed by the enactment of Food Corporation Act 1964. 

Q83. Consider the following stateents regarding Biodiversity Heritage Sites (BHS). 

1. They are set up under Environment Proection Act, 1986. 

2. State Governemnt identify Biodiversity Heritage Sites but rules are framed by the Central 

Government. 

3. For nomination of any place for UNECO Heritage sites, it is mandatorily to be part of 

Biodiversity Heritage sites. 

Which o the above statemebts is/are incorrect? 

a. 1 and 2 only 

b. 1 and 3 only 

c. 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

We will try to connect points. Read complete document. Start with Convention on Biological 

Diversity (CBD). 

The Convention on Biological Diversity (CBD) adopted at the Rio Earth Summit, 1992 is based on 

three-fold objectives: conservation of biological diversity, sustainable use of its components and fair 

and equitable sharing of benefits arising out of the utilization of genetic resources.  

The primary requirement for the first objective, as noted by CBD, is the in-situ conservation of 

ecosystems and natural habitats. To ensure in-situ conservation of biological diversity, every 

contracting party to the CBD is required to establish a system of Protected Areas (PA). PAs are 

geographical defined areas which are designated or regulated and managed to achieve specific 



 

www.goaltideias.com       info@goaltideias.com   8512889220 
 

GOALTIDE UPSC PRELIMS TEST SERIES 2023-FULL LENGTH TEST 1 

conservation objectives. The CBD also mandates parties to develop guidelines for selection, 

establishment and management of such areas.  

So, what India did after reading CBD objective? 

In order to fulfill the objectives of CBD, India enacted the Biological Diversity Act, 2002 (BD Act, 

2002).  

 

For its implementation, the BD Act, 2002 institutes a three-tier structure: National Biodiversity 

Authority (NBA) at the apex level, State Biodiversity Boards (SBB) at state level and Biodiversity 

Management Committees (BMCs) at local body level.  

One of the salient features of the Act with respect to in-situ conservation is conserve and develop 

areas of importance from the standpoint of biological diversity by declaring them as biodiversity 

heritage sites (BHS). The Act grants State Governments the power to notify areas of biodiversity 

importance as BHS and in consultation with the Central Government to frame rules for their 

management and conservation. 

 

BHS are well defined areas that are unique, ecologically fragile ecosystems which may be terrestrial, 

coastal or spread over inland /marine waters. 

Third statement is incorrect: 

There is no such criterion. 

 

Q84. Which of the following functions in precision-farming are aided through GPS based 

applications? 

1. Farm planning 

2. Field mapping 

3. Soil sampling 

4. Fertilizers application 

Select the correct answer using the code given below: 
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a. 1 and 2 only 

b. 2 and 3 only 

c. 1, 2 and 4 only 

d. 1, 2, 3 and 4 

Solution: d 

Explanation: 

GPS-based applications in precision farming are being used for farm planning, field mapping, soil 

sampling, tractor guidance, crop scouting, variable rate applications, and yield mapping. By using 

GPS on the tractors, the entire process from levelling the field to planting the seed to irrigating the 

crop has been much more efficient. So, statements (1), (2) and (3) are correct.  

GPS also allows farmers to work during low visibility field conditions such as rain, dust, fog, and 

darkness. Many of the new innovations rely on the integration of on-board computers, data 

collection sensors, and GPS time and position reference systems. 

Through the use of GPS, geographic information systems (GIS), and remote sensing, the information 

needed for improving land and water use can also be collected.  

Farmers can achieve additional benefits by combining better utilization of fertilizers, pesticides etc. 

with the GPS aided technology. So, statement (4) is correct. 

Q85. Who is responsible for counting the votes in India? 

a. Returning Officer 

b. Chief Electoral Officer 

c. Person appointed by State or Central Government 

d. Person appointed by Judiciary 

Solution: a 

Explanation: 

Who is responsible for counting the votes? 

The Returning Officer (RO) is responsible for conducting elections in a constituency, which also 

includes counting of votes. The RO is an officer of the government or a local authority nominated by 

the ECI for each constituency in consultation with the state government. 

 

Q86. Consider the following statements regarding 'Distinguished Jurist' with respect to Indian 

Judiciary. 

1. No distinguished jurist yet, in the opinion of President, has been appointed as judge of 

Supreme Court in India. 

2. Distinguished Jurist' category is also applied for appointing High Court Judge. 

3. A distinguished jurist is one of the members of committee to be formed to conduct 

investigation into misbehaviour or incapacity of Judge. 

Which of the above statements is/are correct? 

a. 1 and 2 only 
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b. 3 only 

c. 1 only 

d. 1 and 3 only 

Solution: d 

Explanation: 

First statement is correct. 

As per Article 124 of the Constitution of India, 

 

But no distinguished jurist yet has been appointed as a judge of Supreme Court. 

Second statement is incorrect: 

This 'distinguished jurist' category was added to Article 217 (appointment of High Court judges) by 

the 42nd Constitution amendment. But the same was deleted by the 44th Constitution Amendment. 

Third statement is correct: 

It is taken from Judges (Inquiry) Act, 1968 
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Q87. As per the Constitution, ‘Unsound mind’ is one the way for the disqualification from 

membership of which of the following? 

1. Member of Legislative Council. 

2. Finance Commission 

3. Member of Parliament 

4. A Judge of the Supreme Court 

Select the correct code. 

a. 1 and 3 only 

b. 1, 2 and 3 only 

c. 1, 3 and 4 only 

d. 3 only 

Solution: a 

Explanation: 

 

 

Finance Commission:  

The term ‘unsound mind’ is mentioned not in Constitution, but Finance Commission 

(Miscellaneous Provisions) Act, 1951. 

 

For SC judge, the criteria is not “unsound mind”. 
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Q88. A person shall be disqualified for being chosen as, and for being, a member of either House of 

Parliament: 

1. if he holds any office of profit under the Government of India  

2. if he is of unsound mind and stands so declared by a President 

3. if he is already a member of legislative assembly 

4. if he has voluntarily acquired the citizenship of a foreign State 

Select the correct code. 

a. 1 and 4 only 

b. 1, 2 and 3 only 

c. 1, 3 and 4 only 

d. 1, 2, 3 and 4 

Solution: a 

Explanation: 

 

Q89. With respect to Competition Commission of India (CCI), consider the following statements. 

1. It is a statutory body of the Government of India responsible for enforcing The Competition 

Act, 2002 throughout India. 

2. National Company Law Appellate Tribunal (NCLAT) is an appellate body for appeal against 

CCI. 

3. The Act empowers the Commission to issue interim orders in cases of anti-competitive 

agreements and abuse of dominant position 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 
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Explanation: 

Competition Commission of India is a statutory body of the Government of India responsible for 

enforcing The Competition Act, 2002 throughout India and to prevent activities that have an 

appreciable adverse effect on competition in India. It was established on 14 October 2003.  

 
 

Powers and Functions of CCI (no need of any more functions, except given below): 

a. To eliminate practices having adverse effect on competition, promote and sustain 

competition, protect interests of consumers and ensure freedom of trade by other 

participants 

b. Inquire into certain agreements and dominant position of enterprise– It provides that the 

Commission may either suo moto or on receipt of any information of alleged contravention 

of Section 3 (prohibits anti-competitive agreements) may inquire into the same. 

c. Inquiry into combinations– Section 20 of the Act entrusts the Commission with the power 

to inquire into any information relating to acquisition and determine whether such 

combination or acquisition may have an appreciable adverse effect on competition (AAEC). 

d. Power to issue interim order– Section 33 of the Act empowers the Commission to issue 

interim orders in cases of anti-competitive agreements and abuse of dominant position, 

thereby temporarily restraining any party from carrying on such an act. 

e. Competition Advocacy– Section 49 of the Act provides for competition advocacy and 

enumerates that the Central or the State Government may while formulating any policy on 

Competition or any other matter may refer to the Commission for its opinion on possible 

effect of such policy on Competition. However, the opinion given by the Commission is not 

binding on the Central Government. 

National Company Law Appellate Tribunal (NCLAT) is an appellate body for appeal against CCI. 

 

Q90. Consider the following. 

1. Equator: passes through South America, Indonesia, and Africa. 

2. Tropic of Cancer: Passes through China and Africa 

3. Tropic of Capricorn: passes through Africa, Papua New Guinea 

Select the correct code. 
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a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1 only 

Solution: a 

Explanation: 

 

Q91. Consider The following statements regarding Federation of Indian Chambers of Commerce & 

Industry (FICCI). 

1. It was established during priministership of Jawahar Lal Nehru. 

2. A non-government, not-for-profit Organisation, FICCI is the voice of India's business and 

industry. 

3. It serves its members from the Indian private and public corporate sectors and multinational 

companies. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 3 only 

Solution: b 

Explanation: 
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Q92. Consider the following statements regarding Olive Ridleys Turtles. 

1. They're called Olive Ridleys get their name from the olive green colour of their shell. 

2. The sex of the Olive Ridley turtles is determined by the temperature at which they are 

hatched. 

3. Odisha hosts the highest number of nesting turtles in India. 

Which of the above statements is/are correct? 

a. 1 and 2 only 

b. 2 and 3 only 

c. 1 and 3 only 

d. 1, 2 and 3 

Solution: d 

Explanation: 

The sex of the Olive Ridley turtles is determined by the temperature at which they are hatched. A 

male turtle is born if the egg hatches at a temperature below 29 degrees Celsius. Above that, the 

hatchling is a female. 

They're called Olive Ridleys get their name from the olive green colour of their shell.  They can 

grow up to two-and-a-half feet in length and weigh 30-45 kilograms. They feed mainly on shrimp, 

crab, molluscs, fish and crabs. 

In India, they congregate on the beaches of Odisha and Maharashtra to lay eggs — a phenomenon 

called ‘arribada’, which means ‘arrival by the sea’ in Spanish.  

Odisha hosts the highest number of nesting turtles (4-11 million). 

 

Q93. Which of following National Park has the highest tiger density in India? 

a. Jim Corbett  

b. Kaziranga 

c. Nagarhole 

d. Orang 

Solution: a 

Explanation: 
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Uttarakhand's Jim Corbett National Park has reported the highest tiger density among India's 50 

tiger's reserves with 14 tigers per 100 square kilometers, followed by Kaziranga National Park in 

Assam, Nagarhole and Orang Tigers reserves. 

 

Q94. ‘Dweep Vertigrow’ recently seen in news is: 

a. Mineral exploration method in deep sea 

b. A recently discovered variety of banana in Kerala 

c. a vertical farming models 

d. A coral group recently discovered in Andaman and Nicobar 

Solution: c 

Explanation: 

 

Dweep vertigrow is a vertical farming model for growing leafy vegetables in kitchen/terrace garden 

with a spatial coverage of 5 m2 which can accommodate 100 pots and one tray (2 m2). This has the 

provision for soilless cultivation, rain protection and rainwater harvesting.  

The system is suitable for year-round cultivation of high value leafy vegetables and other herbs 

besides aesthetic orchids/ornamental plants with efficient use of water, nutrients and space. 

 

Q95. Consider the following statements regarding Law Commission of India. 

1. Parliament passed Law Commission Act 1954 and first law commission was set up in 1955. 

2. Since 1955, 13 Law Commission has been appointed. 

3. It suggests such legislations necessary to implement the Directive Principles and to attain the 

objectives set out in the Preamble to the Constitution. 

Which of the above statemnts is/are correct? 

a. 1 only 

b. 3 only 

c. 2 and 3 only 

d. 1 and 2 only 

Solution: b 

Explanation: 

First statement is incorrect. Koi Act ni h Law Commission ke liye. 
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Second statement is incorrect: 

The Central Government established the First Law Commission in 1955 with the then Attorney-

General of India, Mr. M. C. Setalvad, as its chairman. Recently, 22nd Law Commission was 

constituted. 

 

Third statement is correct:  

The Terms of Reference of the Law Commission, inter alia, includes  

a. review/repeal of obsolete laws,  

b. to examine the Laws which affect the poor and carry out post-audit for socio-economic 

legislations,  

c. to keep under review the system of judicial administration to ensure that it is responsive to 

the reasonable demands of the times and in particular to secure,  

d. to examine the existing laws in the light of Directive Principles of State Policy and to suggest 

ways of improvement and reform and also to suggest such legislations as might be 

necessary to implement the Directive Principles and to attain the objectives set out in the 

Preamble to the Constitution,  

e. Examine the existing laws with a view for promoting gender equality and suggesting 

amendments thereto,  

f. to revise the Central Acts of general importance so as to simplify them and to remove 

anomalies, ambiguities and inequities,  

g. to examine the impact of globalization on food security, unemployment and recommend 

measures for the protection of the interests of the marginalized. 
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Q96. The ‘Breakthrough Agenda Plan’ was recently seen in the news is related to: 

a. To rake punitive measures against countries not contributing towards achieving goals of 

Paris Agreement. 

b. A methane observatory plan set up at COP 27. 

c. to help limit the rise in global temperature to well below 2°C (Paris Agreement) 

d. restoration of mangroves 

Solution: c 

Explanation: 

 

 

 

 

Q97. With reference to Infrastructure Resilience Accelerator Fund (IRAF), recently announced at 

COP 27, consider the following statements. 

1. It was announced by Coalition for Disaster Resilient Infrastructure (CDRI). 

2. It will be managed by the United Nation office to support global action on disaster-resilience 

of infrastructure system in developing and Small Island Developing States. 

Which of the above statements is/are correct? 
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a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

The Coalition for Disaster Resilient Infrastructure (CDRI) announced Infrastructure Resilience 

Accelerator Fund (IRAF), a CDRI multi-partner trust fund, at the India Pavilion of COP27 at Sharm El 

Sheikh in Egypt. 

IRAF, a multi-donor trust fund, established with the support of United Nations Development 

Programme (UNDP) and United Nations Office for Disaster Risk Reduction (UNDRR), will be managed 

by the United Nation Multi-Partner Trust Fund Office (UN MPTFO) in New York, to support global 

action on disaster-resilience of infrastructure systems, especially in developing countries and Small 

Island Developing States (SIDS). 

Launched by Prime Minister Narendra Modi at the UN Climate Action Summit at New York on 

September 23, 2019, the Coalition for Disaster Resilient Infrastructure (CDRI) is a partnership of 

national governments, UN agencies and programmes, multilateral development banks and 

financing mechanisms, the private sector, and knowledge institutions that aims to promote the 

resilience of new and existing infrastructure systems to climate and disaster risks in support of 

sustainable development. 

 

Q98. With respect to rubber cultivation in India, consider the following statements. 

1. Production of raw material by rubber cultivation is much higher than consumption in India. 

2. The carbon dioxide sequestration rate of rubber trees is very high. 

3. North East India constitute 90 percent of rubber production in India. 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 and 3 only 

c. 2 only 

d. 1 and 2 only 

Solution: c 

Explanation: 

First statement is incorrect. 
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Second statement is correct. 

 

 

Third statement is incorrect. 

Around 85% of rubber production in the country is accounted for by Kerala and some parts of Tamil 

Nadu, which are considered as traditional areas of rubber cultivation. 
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Q99. Consider the following statements regarding Convention on the Rights of Persons with 

Disabilities. 

1. It is the first legally binding instrument with comprehensive protection of the rights of persons 

with disabilities.  

2. India has ratified United Nations Convention on Rights of Persons with Disabilities (UNCRPD). 

Which of the above statements is/are correct? 

a. 1 only 

b. 2 only 

c. Both 1 and 2 

d. Neither 1 nor 2 

Solution: c 

Explanation: 

The Convention on the Rights of Persons with Disabilities is an international treaty that identifies 

the rights of persons with disabilities as well as the obligations on States parties to the Convention 

to promote, protect and ensure those rights.   

The Convention also establishes two implementation mechanisms: the Committee on the Rights of 

Persons with Disabilities, established to monitor implementation, and the Conference of States 

Parties, established to consider matters regarding implementation. 

India is a signatory of the United Nations Convention on Rights of Persons with Disabilities 

(UNCRPD). It ratified this Convention on 01-10-2007 in pursuance of Article 35 of the Convention. 

India submitted its First Country Report on Status of Disability in India in November 2015. 

Q100. Safeguarding constitutionalism lies with: 

a. Judiciary 

b. Executive 

c. Legislative 

d. All the above 

Solution: d 

Explanation: 

We will use here interpretation of CJI Ramana, who opined that the importance of the Judiciary 

should not blind us to the fact that the responsibility of safeguarding constitutionalism, lies not 

just on the Courts, and all the three organs of the State, i.e., the executive, legislature and the 

Judiciary, are equal repositories of Constitutional trust. 

 

 


